POy !
"""'Hr,lg
L]

(N I Illll l‘llllillll

KOHBEKTOPEH OTOIMJIUTEN 3A MNOAOB MOHTAX CF2000/CFV2000
CONVECTOR HEATER FOR FLOOR MOUNTING CF2000/CFV2000



Mos. Kog 1C Kon. | HaumeHoBaHune
1 - 1 CF Panel (painted)
2 - 1 CF side panel set
3 - 1 CFV side panel set
4 00-00001254 1 Mica heater 800/1200/2000W; 230V - CF
5 - 2 CF spacer
6 00-00001130 1 llluminated double switch without waterproof cover 22x30mm
7 00-00001218 1 llluminated single switch without waterproof cover 11x30mm for fan - CFV
8 00-00002798 1 Thermostat knob
9 00-00001635 1 Bimetallic thermostat 16A; 250V; T150; 70+4°C (KST 820) - CF
10 - 1 Cord clamp
11 - 1 Cord sealer
12 - 1 Inrernal wires (CF - 2000W)
12 - 1 Internal wires (CFV - 2000W)
13 - 1 Power supply cord
14 - 2 Leg set CF
15 - 1 CF fan housing (CFV only)
16 - 1 CF fan grille (CFV only)
17 00-00001174 1 Electric motor YJ58-12 "F" T150 for convector CFxxxx (only for CFV)
18 - 1 CFV fan screen (CFV only)
19 - 7 Self-tapping metal screw 3.5x13 DIN 7981
20 - 4 Self-tapping metal screw 2.9x19 DIN 7981 (CFV only)
21 - 2 Screw M4x10 DIN 7985 (only for CFV)
22 - 2 Screw M3x10 DIN 7985
23 - 2 Self-tapping metal screw 3.5x16 DIN 7981
24 - 6 Self-tapping metal screw 2.9x9.5 DIN 7981
25 - 2 Washer M4 (CFV only)
26 - 2 Label metallized ELDOM

CONVECTOR HEATER FOR FLOOR MOUNTING CF2000/CFV2000



Mos. Kopg 1C Kon. | HanmeHoBaHue
1 - 1 CF Manen (6osigncaH)
2 - 1 CrtpaHnuum komnnekt CF
3 - 1 CrtpaHuum komnnekt CFV
4 00-00001254 1 Harpesaten mukanutos 800/1200/2000W; 230V - CF
5 - 2 OncTtaHumoHnep CF
6 00-00001130 1 Kntou cBeTell, ABoeH 6e3 MaHLWoH 22x30mm
7 00-00001218 1 Kritou ceeTtely, eguHmnyeH 6e3 maHwoH 11x30mm 3a BeHTunatop - CFV
8 00-00002798 1 BpbTka
9 00-00001635 1 Tepmoperynatop 6umetaneH 16A; 250V; T150; 70+4°C (KST 820) - CF
10 - 1 Ckoba 3a LWHyp
11 - 1 YNAbTHUTEN 3a LUHYP
12 - 1 KomyTauusa koHBekTop (CF - 2000W)
12 - 1 KomyTtauus koHsekTop (CFV - 2000W)
13 - 1 3axpaHBaly, LWHyp
14 - 2 Kpaka komnnekt CF
15 - 1 Kopnyc BeHTunartop CF (camo 3a CFV)
16 - 1 PeweTka BeHTunaTop CF (camo 3a CFV)
17 00-00001174 1 En. motop YJ58-12 "F" T150 3a koHBekTop CFxxxx (camo 3a CFV)
18 - 1 EkpaH BeHTUnatop CFV (camo 3a CFV)
19 - 7 BuHT 32 meTan camoHape3seH 3,5x13 DIN 7981
20 - 4 BuHT 3a MmeTan camoHapeseH 2,9x19 DIN 7981 (camo 3a CFV)
21 - 2 BuHT M4x10 DIN 7985 (camo 3a CFV)
22 - 2 BuHnt M3x10 DIN 7985
23 - 2 BuHT 3a meTan camoHapeseH 3,5x16 DIN 7981
24 - 6 BuHT 3a meTan camoHapeseH 2,9x9,5 DIN 7981
25 - 2 LWan6a nognoxHa M4 (camo 3a CFV)
26 - 2 ETtuket metanuanpad ELDOM

KOHBEKTOPEH OTOIMJIUTEN 3A MOAOB MOHTAX CF2000/CFV2000



	Page 1
	Page 2
	Page 3

